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e Reading time — 10 minutes
Working time — 3 hours

o Write using black pen.

e Calculators approved by NESA may be used.

e Reference sheet is provided.

e For questions in Section Il, show relevant mathematical
reasoning and/or calculations.

General
Instructions

Total marks: Section | — 10 marks (pages 3 - 6)
100 e Attempt Questions 1-10

e Allow about 15 minutes for this section.
e Answer the questions on page 35.

Section Il — 90 marks (pages 8 — 29)
e Attempt Questions 11-36

e Allow about 2 hours and 45 minutes for this section.
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Section 1
10 marks
Attempt Question 1-10

Allow about 15 minutes for this section.

Use the multiple-choice answer sheet for Questions 1-10.

1 What are the solutions to the equation 2cosx = V3, where 0 < x < 2m ?

(A) g and 5

|
o5
=
Q.

I

B) 3
(C) % and —

(D) % and —

2 Consider the bivariate data shown on the scatterplot below.

A

Which of the following values is the best estimate for Pearson’s correlation coefficient for
this data?

(A) —0.9
(B) —0.2
(C) 0.9

(D) 0.2

Page | 3



3 What is the derivative of e*°?
(A) 6x5e*°
(B) 6xe*’
(C) 6x5e5*°

(D) x6ex6—1

4 An infinite geometric series has a first term of 10 and a limiting sum of 30. What is the
common ratio?

(A)

(B)
©) 3
(D) =

The inequality which defines the domain of the function f(x) = \/9_;42 is:
—X

(A) x <3
(B) —3<x<3
(C)—-3<x<3

(D) x<-3,x>3

6  Given that tanf = % for 0 < 6 < m, what is the exact value of sinf ?
A 7
(B) =
© =
(D) 75
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(x—2)% x<2

7 L _
A function is given by the rule f(x) = { dx—7  x>2°

What is the value of £(f(0)) ?

(A) 5
B) =7
(C) 9

(D) 4

8 What is the period for the function f(x) = —3sin (%) ?
(A) 5
(B) 5@
(C) 10

(D) 107

9 A and B are two chance events such that P(A) = 0.45, P(B) = 0.3 and P(A|B) = 0.6.
What is the value of P(B|A)?

(A) 0.4
(B) 0.5
(C) 0.8

(D) 0.9
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10 The graph shows y = f(x) and y = g(x), where f(x) = Inx and g(x) = x? — 1.

YA y=g(x)

y=rf

. |

\

How many solutions does the equation [f(x)]? — [g(x)]? = 0 have?
(A) 0
B) 1
(©) 2

(D) 3

END OF SECTION 1
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Marks
Question 11

Differentiate y with respect to x:

a)
_3x+1

T x+4

b)

y=x+4x% -1
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Question 12

Solve |5 — 4x| = 11

Question 13

Evaluate the expression below, expressing your answer as an integer:

2ln2
f e dx
1

n2
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Question 14

It is given that " (x) = 6x and that f(x) has a stationary point at (—1,2). Find f(x).

Question 15

Find the equation of the normal to the curve y = 2(5x — 4)* at x = 1.
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Question 16

Sketch y = In(x + 4) — 2 showing all the key features and clearly labelling any intercepts in exact
form.

Question 17
It is given that 1 + 2x — 3x? > 0 in the domain [0,1].

a) Prove that f(x) = 1 + 2x — 3x? is a probability density function for [0,1].

b) State the mode of the probability density function.
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Question 18

The circle x + y? — 6x + 8y — 11 = 0 is transformed by a horizontal translation to the left by 4
units and a vertical translation up 3 units.
What is the centre and radius of the new circle?

Question 19

a) Find [ sin3x dx

b) Evaluate fol 2x (x% +2)3 dx
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Question 20

The diagram below shows the graph of y = x;L:C_ 1
2
21
14
4 -3 -2 —; 1 2 3 i'x

24

_3 +
The region enclosed by the graph, the x-axis, and the line x = 2 is shaded.
Calculate the exact value of the area of the shaded region.

Continue to next page.
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Question 21

x%24+2x
(x+1)2°

d 2
Show thatd—y =

a) fy = X )R

x%24+2x
(x+1)2

b) Find the set of values of x for which the function y = is increasing.

Continue to next page.
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Question 22

a) Show that
cos? 6 cos? 6

1—sin0_1+sin9

= 2sinf

b) Hence, solve:
cos? 6 cos? 6

1—sin9_1+sin9

=1 for0<6<m.

APPROXIMATELY HALFWAY - 48 marks out of 100 complete at this point
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Question 23

The population, P, of parrots, is decreasing at a rate proportional to P:
dP

E=—kp

Initially in August 2003 there were 3000 parrots, and by August 2013 the population had
decreased to 2750. Note that t is in years.

a) Show that P = 3000e %t is a solution to the above differential equation.

b) Find the value the k (Answer correct to four decimal places).

c) Ifthe population continues to decrease at this rate what will be the expected population in

August 2023? (Answer to the nearest whole number).
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Question 24

Use the trapezoidal rule with four sub-intervals to evaluate the integral below.
Answer in simplified fraction form.
> 10
A= f dx
1 x+1

Continue to next page.
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Question 25

The random variable X has this probability distribution.

X

11

12

13

14

15

P(X = x)

0.3

0.2

0.1

0.3

0.1

a) Find the expected value.

b) Find the standard deviation of x correct to 2 decimal places.

Continue to next page.
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Question 26

The scatterplot below shows the relationship between age and balance.

121

10+ °

Balance
(o)}
L 2

10 20 30 40 50 60 70 80 90
Age

a) Draw a line of best fit on the scatterplot and find the equation of this line.

b) Hannah is 42 years old. Use your equation to find what is her expected balance?

c) Use the table of values below to find the value of the Pearson’s correlation coefficient

correct to two decimal places.

Age

10

20

20

30

40

60

Balance

10

8

9

8
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Question 27

The first 3 terms of a sequence are:
(x—=1),(3x+2),(5x+5), ccerrrrnn

a) Show that the sequence is arithmetic.

b) Find the sum of the first 50 terms of the sequence, in terms of x.

Question 28

The table below gives some values of the probabilities of a standard normal distribution.

first decimal place
.0 1 2 3 4 5 6 i .8 9
0.5000 0.5398 0.5793 0.6179 0.6554 0.6915 0.7257 0.7580 0.7881 0.8159
0.8413 0.8643 0.8849 0.9032 0.9192 0.9332 0.9452 0.9554 0.9641 009713
0.9772 0.9821 0.9861 0.9893 0.9918 0.9938 0.9953 0.9965 0.9974 0.9981
0.9987 0.9990 0.9993 0.9995 0.9997 0.9998 0.9998 0.9999 0.9999 1.0000

adi S A i ==

Use the table above to find the probability P(—1.5 < Z < 2.2)
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Question 29
The particle’s displacement is given by x = (t? + 1)e ¢ metres and velocity v m/s.

a) Find the initial displacement of the particle.

b) Express the velocity v in factorised form.

c) Hence, find when the particle is at rest.

Continue to next page.
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Question 30

Solve In(2sin?8 — cosf) =0 for0 < 6 < 2m.

Question 31
Evaluate

V3
L 2 2

(sin® x + cos“ x + tan” x) dx
0

APPROXIMATELY THREE QUARTERS COMPLETE — 78 marks out of 100 complete
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Question 32

2T
The function f(x) = cos (3x) — 1 is defined in the interval 0 < x < 3

a) What is the amplitude and period of the function?

b) What is the range of the function?

¢) Sketch f(x) = cos (3x) — 1 inthe interval 0 < x < Z?T[

F 3
-
v
v

Continue to next page.
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Question 33

a) Show that

d
7 (K108e(x) —x) = log x

b) Hence or otherwise find [ 2log, (x) dx

Continue to next page.
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Question 33 Continued

a) The graph shows the curve y = 2 log,( x) which meets the line x = 5 at Q.

Using your answers from (i) and (ii), or otherwise, find the exact area of the shaded section.
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Question 34

The graph y = sin x only has one tangent in the domain [, 2] that passes through the origin.

Let the point of contact of this tangent be P (h, sin h).

Prove that h = tan h.

YA
y =sinx

27

P(h,sinh)

=Y
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Question 35

The Moon has a lower gravity than Earth, and there is no atmosphere to cause air resistance, so a
ball would bounce higher and for much longer on the Moon than on Earth.

When a ball is dropped on the Moon each bounce is 95% as high as the previous bounce. When an
identical ball is dropped on Earth each bounce is 50% as high as the previous bounce.

NOT TO
N SCALE
A l” \\\
“I l‘J ‘\\ ‘J' 'l “\‘
2 metres | ! \ ;

.
A

/ v ! S ball
v ' \ i 1 ' \ a
' ' \ ' v J ) /
1 K ' : [} ! ’
v ) 1 r v
1 T
1

Two identical balls are dropped on the Moon and on Earth, each from a height of two metres
Calculate the difference in the total vertical distance travelled by these balls.
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Question 36

A new whiteboard is being moved into a classroom. The whiteboard must be taken from the
entrance, through the school’s corridors and into the classroom. Two of the corridors are
perpendicular to each other. The first corridor is 3 metres wide and the second corridor is 4 metres
wide, as shown in the diagram. The length of the whiteboard is shown using L.

classroom

|
entrance
|

|
The whiteboard makes an angle 6 to the horizontal on the corner of the corridors such that
0 <6 <90.

a) Show that the length of the whiteboard, L, is
3 4

cosf  sinf

Continue to next page.
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b) In order to find the maximum possible length of the whiteboard such that it can be carried
around the corner, you must find the angle 0 that minimises the function L and then use
that angle to find that length of the whiteboard. Hence, find that value of theta to the
nearest minute and the length L to the nearest metre.

END OF EXAM
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e Reading time — 10 minutes
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e Write using black pen.

e Calculators approved by NESA may be used.

e Reference sheet is provided.

e For questions in Section Il, show relevant mathematical
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Total marks: Section | — 10 marks (pages 3 - 6)
100 e Attempt Questions 1-10

e Allow about 15 minutes for this section.
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Section I
10 marks
Attempt Question 1-10

Alow about 15 minutes for this section.

Use the multiple-choice answer sheet for Questions 1-10.

1 What are the solutions to the equation 2cosx = V3, where 0 < x < 27 ?

T 5w
() 3 and = Cusrz A2
b8 2

(B) 3 and )

(©) % and 5—6’5

Z
= Yl -
™ and 2& S

2 Consider the bivariate data shown on the scatterplot below.

‘

Which of the following values is the best estimate for Pearson’s correlation coefficient for
this data?

(A) 0.9
(B) -0.2
(C) 0.9

(D) 0.2
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3  What is the derivative of *°?

¢
@ e P ('DL):@?L 6
(B) 6xe*® _O’ 11} 613‘6'1

(C) 6x5ebx®

D) x6ex%-1

4 An infinite geometric series has a first term of 10 and a limiting sum of 30. What is the
common ratio?

OF %nof—ﬁ“?

1
®) = -~ o
©) C0-30 ¢ = O

Borz 2o =5(= 2/3

®) =

5 The inequality which defines the domain of the function f(x) = ‘[Q:Ai_z is:
—X

(A) x <3 q’12>o
@—3<x<3

~* <L
2L <D

(C)—3<x<3

D) x<-3,x>3

6  Given that tanf = %for 0 < 6 < 7, what is the exact value of sinf ?

A = o
®) 7=
-3
O =

D) 7
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(x—2)%, x<2
dx — 7, x>2°

S), lu>; (C:)" 2)1:: Lf

7 A function is given by the rule f(x) = {
What is the value off(f(O)) ?

(A) 5

®) -7 e "D'—"— 16~
\ g Ol

©)

D) 4

(199
8 What is the period for the function f(x) = —3sin (—5-) ?

A) 5
(B) 57 2T - '7—%"

6®w Qﬁ&i.:lQ
©) 107 IZe

9 A and B are two chance events such that P(4) = 0,45, P(B) = 0.3 and P(4A|B) = 0.6.
What is the value of P(B|A4)?

2 apar)=rla|e)xel
(o4 Tj(ﬁlﬁ): Pla 0R) & |

= 0463(@.3
(B) 0.5 Pkﬁ) — ¢ \8
(C) 0.8 = _C%
O,
(D) 0.9 — oy
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10 The graph shows y = f(x) and y = g(x), where f{x) = Inx and g(x) = x? — 1.

¥} y=g()

P \‘\L y = f(x)

How many solutions does the equation [f(x)]* — [g(x)]? = 0 have?

(A) 0

& @‘x)—— J M)LC(") 9 (@)-; O

als ¢ ‘C}L):’(jbh)
) 3 M ( f/ﬁ_‘/

\nf & {C,_-,l_ 5\&&1'?8
Ny Aty
o soldhues

END OF SECTION 1
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Marks
Question 11

Differentiate y with respect to x:

a) 2
_H3x+1
iy
U= (D)'I.J-\ Ve XY
Ul V- )
U= 2lasy) = @) -——-——_Q
J (=4 )™
Ml: .__-D-——- o 4__!...\_____ @
) (~+ ’"L)" ~ 4 L6
2
b)
y=x+4x%2 -1
4 .
e V= Gj-ih\_) L,-L /K = @
u'l= ) Y= ] ("!'x‘“f\\ w8 )
2 " 4
(ﬁ\:; \l"\rx_‘f'-l W\ _— U e -
?
(\ Ax =l I
— Yo o\ g btpe \ O LAYK
— —— ~ {edks
r(-'l’x‘:’ Lo AT

P
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Question 12 2

Solve |5 —4x| = 11

Gt Jpe
ot "?
"‘L“)L-:_"é ays - L'\’)k*:—'" L& j o
oJ
A= oC. . A=t b
2 J
Question 13 3

Evaluate the expression below, expressing your answer as an integer:

J;Zlnzez:rdx
NN
bl L {0
_ | [etler 2N ()
2 —J
— L [ox _9*)
2. —
- ,-L(\l?,\
Z/ P4
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Question 14

It is given that f''(x) = 6x and that f(x) has a stationary point at (—1,2), Find f(x).

0 )= Jréx ax.

Q'(‘x): Do+ C /Zr

Ll =0 o
24 C= O
Y| R S/
PN 22 )
—= e ¢ S | A
5 - N
« LDz =) +2yc="
e O\, o
S —— W,

—

Q ——_—
RN )Q\,:L) |

Question 15

Find the equation of the normal to the curve y = 2(5x —4)* at x = 1.

e = g(\(x,_.,\f’x’y = Ra (S QD)

)
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Question 16 3

Sketch y = In(x -+ 4) — 2 showing all the key features and clearly labelling any intercepts in exact
form.

' a’i.:r-(.j
| 7] oo, 4
3

2] L=
| &-\ (14'"\)7 2

= ﬁ ~atfae®
E i Yo €
B2

] )_, %\’\Dﬁo‘r “‘-‘L

Cu/fie

i \:// = (1) Odymprte
y @

o

Question 17

It is given that 1 + 2x — 3x2 2 0 in the domain [0,1].

2
a) Prove that f(x) = 1 + 2x — 3x? is a probability density function for [0,1].
\ St
( L2 o= — (o~ =) — @
(- -
2
— (el | 1= O
A /
= | D
1

b) State the mode of the probability density function.

- -2 1 T
L_é;—"_J N

2 e —& S
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Question 18

The circle x? + y? — 6x + 8y — 11 = 0 is transformed by a horizontal translation to the left by 4

units and a vertical translation up 3 units.
What is the centre and radius of the new circle?

=6y Ltk x 3 — ||
J o J

2= Gr 49 g3 o469 16

J
(=2 = (i =36 )

candre (3 —4)

Weed €l - (CoclA
— (_""!“"") (:—': é /i\\
ol N
"y,

Question 19

a) Find [ sin3x dx

__,_‘\;cg&?»_ +C ——@

b) Evaluate fol 2x (x* + 2)3 dx

leez) e 1)
L J

=1 o

B e

— sy

4
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Question 20

4x
x%+1

The diagram below shows the graph of y =

-4 -3 -2 -1 /

/
—~_/]

—

-3+
The region enclosed by the graph, the x-axis, and the line x = 2 is shaded.
Calculate the exact value of the area of the shaded region.

:D(-:.— ( Ll’Y—;_.dS\ ———e (\)

o A4

2.
= 2 [ 25 ol
D]"‘r—%_-\

Y - 2. )
=2la \yp) \ —FU
C TS

— Q_ﬂnT» Lﬂ \T\ . —
= — =T

f:?,l_ﬂi_ = e

Continue to next page.
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Question 21

2

_ xP42x ay _ 2
a) Ify= Gr? Show that B D)
2-
SR @ LY Y= (“)( 4—\) /& p
I Q2+ 2 \/':2(3(-»\) .

= (2-:(4?—) rx-HY’ - Q(“L-\-ﬂ (:l”—lfm_m}) ................

(o)

= 2 (x4)) \‘:3&3'—]—(2,1.—\'\ —x-2x )

(%)

R R——

)

242

b) Find the set of values of x for which the function y = od

i) is increasing.

e

WSO g > |\ =)
J L )

Continue to next page.
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Question 22

a) Show that
cos? @ cos? @

1—sin9~1+sin9 = Zsinf

LHS= Cey O([3siae) = Cete(f-sino)
l— sy &

— (o) GIES0S -—C;%)@—% (VD ESIACT

| —sin’ e

b} Hence, solve:
cos? g cos? §

— = <=6<m.
T—smd 1+smg | 0SO=T

D <s{ad= |
={aG=l_
P
Ozt S
& G
_ / —,
\\ ~J

APPROXIMATELY HALFWAY — 48 marks out of 100 complete at this point
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Question 23

The population, P, of parrots, is decreasing at a rate proportional to P:
dpP
— = —kP

dt

Initially in August 2003 there were 3000 parrots, and by August 2013 the population had
decreased to 2750. Note that £ is in years.

a) Show that P = 3000e~** is a solution to the above differential equation.

b) Find the value the k (Answer correct to four decimal places).

ok
01502 BOUOS
e - 276 _ (\)
EXTaL,
—-'[(_)\’(.: L(\(M)
\"SO0d 7
kKo —ln(ES.
Lo

[p—

j Koo aa8] | —))

c) If the population continues to decrease at this rate what will be the expected population in
August 20237 (Answer to the nearest whole number).

e salety
Yoo, P 20wé”

Sloco, D
{ )
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Question 24
Use the trapezoidal rule with four sub-intervals to evaluate the integral below.
Answer in simplified fraction form.

-l Ol e | /7
L | Corect
TS 15 1) % | Lo
y \ od,!,
L —Q

|

Continue to next page.
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Question 25

The random variable X has this probability distribution.

X 11 12 13 14 | 15
P(X = x) 0.3 | 02 0.1 03 |01

a) Find the expected value.

=~ Ply) -.-K\')_.—]‘ \—-—-(D
- J

b) Find the standard deviation of x correct to 2 decimal places.

2 \Nedrne — é_‘&z P‘l} — l_\lj)gr ‘——Q)
—2.al (D

e SD - \Wer &2 149 —(])

AN
/ VA —
[ 20 =D \ex b2 |

r~ ). YL /

Continue to next page.
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Question 26
The scatterplot below shows the relationship between age and balance.

Balance

@ 10 20 30 40 50 60 70 80 90
Age

\
a) Draw a line of best fit on the scatterplot and find the equation of this line. 3

it
AN [ N B W @ VR \———(h

tw

I
.

b) Hannah is 42 years old. Use your equation to find what is her expected balance? 1

e (R P A O,

J S

¢) Use the table of values below to find the value of the Pearson’s correlation coefficient 1
correct to two decimal places.

20 |20 |30 140 |40 (50 |50 |50 |60 |70 .
7 9 5 6 7 5 4 2 3 |12

Age 10
Balance | 10 8 9 3

L o.Ge\ =)
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Question 27

The first 3 terms of a sequence are:
(x—1),(3x4+2),(5x+5), cccrrnn

a) Show that the sequence is arithmetic.

2a42-(x-0) = Qs
a3 D= 2342

b) Find the sum of the first 50 terms of the sequence, in terms of x.

< .- Sof k) ruapey | Q)
7 C -

e -5 luor e mS ) <

L.

- ¥ ’/ \
Pl AR A SO TS WA o Q() /A‘”"‘a
o L)uu ¥ G Ly e \_/

Question 28

The table below gives some values of the probabilities of a standard normal distribution.

Use the table above to find the probability P(—1.5 < Z < 2.2)

P (2«9 .7) - pPl7 A'I-T) .___,@

L~

:P(\?lél.l) — P(_’Z—g\ﬁ
 oa%6l — (1352

— e ()

——
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Question 29

—t

The particle’s displacement is given by x = (¢? + 1)e ™! metres and velocity v m/s.

a) Find the initial displacement of the particle.

=0 } X = (,Q—LQX.&

fer T T )

/’l:lm?
———

b) Express the velocity v in factorised form.

= Ve ‘@“”L+
=21 N <

V= Q4é - ('{ —H\ - (O

Ve ot (4 -J(Z— 1)

VR T\ S

c,:sri (L—»\\ ~

{@4—

v ot

c) Hence, find when the particle is at rest.

Vo =y (LY
N v

Continue fo next page.
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Question 30

Solve In(2sin?8 —cosf) =0for0 <6 < 2w,

D =i86-CSe=|  — (V)
2 (|- (8€)— () 0=
Q- Vexe —CAG=]
D 6 L Coffer —2 = —|
s 6t Cge= = O) (D
(U CA Q05— l=
D" 2 — =\ =0
20 (u-‘r\\ f(un\—\\wc‘)
(ur\\(ld *"'1\ =
Uz ) J= _J-«

Question 31

Evaluate

i, )
(sin? x 4+ cos?x + tan? x) dx
0

= Ve (D

>
P

L I

| e |
- o

APPROXIMATELY THREE QUARTERS COMPLETE - 78 marks out of 100 complete
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Question 32

PATH
The function f(x) = cos (3x) — 1is defined in the interval 0 < x < KR

a) What is the amplitude and period of the function?

Pc‘c‘raci — 21 —"—CD

3

b) What is the range of the function?

LU LO
J

— D

¢) Sketch f(x) = cos(3x)—1lintheinterval 0 < x < 5;—[

A

Y

h

ch, /’CL/(V"L

oS A
D ==k
N ]

>
|~
_,

4

/ LS

Continue to next page.
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Question 33

a) Show that

d
T (xlog.(x) — x) = loge x

'x(_L_.;_ \UC\;"""‘ ——‘Qj

=logg  — (Y

b) Hence or otherwise find [ 2log, (x) dx

o (e =] Zl}\w&}t}——f\\*(@
D . 2

Continue to next page.
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Question 33 Continued

a) The graph shows the curve y = 2 log,( x) which meets the line x = 5 at Q.

Using your answers from (i) and (ii), or otherwise, find the exact area of the shaded section.
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Question 34

The graph y = sin x only has one tangent in the domain [, 2] that passes through the origin.
Let the point of contact of this tangent be P(h, sin f1).

Prove that h = tan h.

YA
y =sinx

2

=Y

P(h,sinh)

N — o5t /2
-Lj‘ VQ-L'X-"§> — 1S h \ — @
N — Ccsd }\ "

N slah = aosh /A .
8 \ —Q1

\ {
=inh — 0 -

Foh=hl
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Question 35

The Moon has a lower gravity than Earth, and there is no atmosphere to cause air resistance, so a

ball would bounce higher and for much longer on the Moon than on Earth.

When a ball is dropped on the Moon each bounce is 95% as high as the previous bounce. When an

identical ball is dropped on Earth each bounce is 50% as high as the previous bounce.

NOT TO
N SCALE

Z metres Voo LU A =

Two identical balls are dropped on the Moon and on Earth, each from a height of two metres.

Calculate the difference in the total vertical distance travelled by these balls.

Hawn: 6292, =09 f__@
D= 2% 2 -7 7%

| —cqas

Ead!«.‘ a=2., (= S /Z. TN

D 22 2 =9 — & \ N
)~ ¥ J

DTgwqre. "‘7%”{ /2 /i\\
—12.m ‘\\J

Page | 27



Question 36

A new whiteboard is being moved into a classroom. The whiteboard must be taken from the
entrance, through the school’s corridors and into the classroom. Two of the corridors are
perpendicular to each other. The first corridor is 3 metres wide and the second corridor is 4 metres
wide, as shown in the diagram. The length of the whiteboard is shown using L.

————— >
4m classroom
L
0 ,
L
3m
¢ >
JT\
|
entrance
|

|
The whiteboard makes an angle 8 to the horizontal on the corner of the corridors such that
0 <8 <90.

a) Show that the length of the whiteboard, L, is 2
3 4
cos@  sind

[ o
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Continue to next page.
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b) In order to find the maximum possible 1ength of the whiteboard such that it can be carried
around the corner, you must find the angle 8 that minimises the funection L and then use 3
that angle to find that length of the whiteboard. Hence, find that value of theta to the

nearest minute and the length L to the nearest metre.

-2 -2
- L'e 2lsae)me Y oieSine

N 4

L= Bsin& L ol

(o & =) o6

F.
[ ! = R staG — LLCQS@@‘

Cais G-SIn G

@ Ll:/CU

-
S2sice— 1w G=0o

=0T = A

Aoce= Y

3

/"—“""‘-f

A;_\J/l\ 2

LC«\("‘%—: Sk_l-’-L
- 3

S 0

s

— _@__H_mmmkb.ﬁ(&h!@gw; é L —?

Page | 29



Section Il extra writing space

If you used this space, clearly indicate which question you are answering.
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Section |

10 Marks

Attempt Questions 1-10.

Allow about 15 minutes for this section.

STUDENT NAME/NUMBER:

Select either A, B, C or D that best answers the question and indicate your choice with a

cross (X) in the appropriate space on the grid below.

This page must be handed in with your answer booklet.

S| A

A

10
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